B4

SRS B T HE D5 7 K R O A (b b B D)
SR L e S B T K 2 T D 7

R

7

EIVI o

] Lo VL0 1T A X S R 0 B

286108 1A (1) -2 A (H) LA R e e s L A - BN TR A [EEMMA T AR 8 HUE U EIE
i%ﬁ g | mE= j iz ] _21ﬁ ] ?ﬁt ] fHﬁ ] _51ﬁ ] ?1& ] ?1& ] ?ﬁ ]
K# g Eoh - S o) K# FilE Ek s S K4 g Eh - S K# g ECE% | K# il Ek s S K#£ FilE Eok > S ek K& il Eok > S ) K4 il Bk S Re)

10/2| 146100m | 0.9 |AZE WX |#iF 1) 1246 BElR Py RBR 1) 1253 B FH 1 12.83 BK EF S 1 1290 EEH BR |SkE 1) 1294 ML BE |EFE 1) 1298 FiE X =& 1 13.08 =5 g |FR 1| 1314
10/2| 24F100m | -1.7 |B&A ZEHE |REE | 2| 1169 JIE Hsn | BkHE 2| 12,07 HAAX KE |BBR | 2| 1208 N X SR | 2| 1213 FE b || | 2] 1215 XR BE &HiE | 2| 1227 M EE |F%H | 2] 1240
10/1) 200m | O |E&A E4E |RELE | 20 2335 RIE 1 FRF | 2| 2381 AR KE |BR 2| 2407 N X SR | 2] 2420 NE R |BeE 2| 2426 R BE &HfE | 2| 2436
10/2|  400m RIE 1 PRI | 2| 5303 NGR|¥IH RE |HW 2| 5581 " K5 FEKRF | 1| 56.13 Mx B (EXKM | 20 56.41 AR BE BN 2| 56.46 ME SE B | 2| 5831 Fh KiE |BERR | 2| 59.28
10/1|  800m 2H & FR | 2| 20801 &N ZR | E#E | 2| 20845 Foh KiE  |(HRR | 2 21136 #E BAER |BF | 2| 21286 TR EH (EKM | 2| 21384 %¥H# FIE  |lUE 1| 21575 ¥E % R 2| 2.16.40 FEHE IEE R 2| 22219
10/2| 14£1500m RE BN |SF 1/ 43806 FE mth |EHiE 1| 4.40.36 AR KiEg |Sl& 1| 44317 %3t FAH  |Um 1) 4.46.25 ML X |(kE 1| 45297 AE B4E KM | 1) 45353 R ZRE0  |FEKF | 1) 456.67 =R AKX |JNE 1| 45797
10/2| 24£1500m 28 & FR | 2| 43044 XHE #&E [l | 2| 43177 IR R FARF | 2| 43178 &8N ER | L& | 20 43179 AE BRFE |EH 2| 4.37.46 k4 #Rth (B | 2| 4.38.29 WE RRER [BF 2| 44187 HE Eth  (EXRH | 2| 44190
10/1|  3000m IR R FEARF | 2| 94556| |KHA #h&E [IUEE | 2| 95343 |EE K& (U@ | 2| 9.55.28 KiE BEH |SfF 1| 9.55.83 KE%H BEA |R#ZBIL | 2] 95693 FE mith |EHiE 1 957.74| k&£ $hth |E|IR | 2| 95840 (R S=H EHE | 2] 100235
10/1] 110mH | -0.9|Jll7t P& R 2| 17.03 SH Em | 2| 1741 a2 EX |FR 2| 17.66 AKX HE |FBHM 2| 18.16 A0 &E |@EXH | 2| 1817

Rl Ohd 2 AMAE KIE 2 mKRK K& 2 MR #H 1 A & 2 BE EX 1 [ &% 2 A = 1

R BE 72 =E KH 72 HAKX K& 72 N HEER 72 FEIR K# 72 WE Mt 72 Ny Bz 72 A N 7
10/2| 4X100mR EiE | 46.18 Mgl — 47.03 JBE — 4713 BEE — 47.34 B\Rg — 47.92 &M | 4807 HIL — 4862 FEH | 49.05

INEF BEIK 2 LB #AT 2 B BH4& 2 mr BE 2 Fh XiE 2 FriZ fith 2 BA fntsA 2 =% 2

HF HEA —2 EM CR —2 PRl PR _1 A2 —F —2 Am EA _2 AR BB —2 YA P _2 JIi IESE _2
10/2| EEB = X FR |2 176 B % (e 2| 165 A % FEH | 1] 160 B BE |JEE | 2] 155 HR ZFH |Hm | 2] 155 MK K& [fBR | 2] 150 TH &K |FR |2 150 £ Wz |k 2] 145
10/1 Sk
vo/1| setERk FRIR K& |HER | 2| 543 wFE EE |EKM | 2| 538 =& K |l 2] 533 E Mt (FM | 2| 528 B mth (T | 2] 527 R+ E# |FH 2 520 &5 W |[BE 1/ 506 IR BR—ER |E# 1/ 506

+0.1 -0.5 0.0 +0.6 +0.4 -0.3 +0.1 +0.6
10/2| A% —F R% |FH | 2| 1452 NoR|EER Mt (HER | 2| 939 =ix 2M |FH 1] 9.28 HW \|X | \BH | 2| 923 WwH KX S | 2) 898 £IE 5 Mgl | 2| 894 Pl OGS Efe | 2] 872 Wi BAX |[JBR | 2] 826
FRXH S 71 = FKRF 39 = FR 36 = JEES 36 = 73 31 = PR 31 = T 30 = 1)) 28 =

X NGR=KZ#Lk

FRAM-FRRDEE L, LHABEERIZES,




B4

SRS B T HE D5 7 K R O A (b b B D)
SR L e S B T K 2 T D 7

R

7

EIVI o

] Lo VL0 1T A X S R 0 B

> — pi i i md‘ iy —+= iy iy —+= = < = =& = > s ==, ST —
k28101 H () -2HH) [of] L1 T AR L2 Bl 3 5 EHER R W mibe EFfim s - MUTHEEEES - ERTHEEES TR T A £ S E B EE
BE BE | EE 1L 21 3ft A 51 ot 78 St
= K4 g3 s SR K4 [iyES il |k K4 DiES i@ |ast K4 g3 ks SR K4 g3 ks GBI K4 iz ks SR K4 Fig S8R |amt K4 g3 Hiko SRV
10/2| 14E100m | -1.7 |3 #£75 |88 11 13.66 HE X |TiF 11 13.75 Mg =2 |JBE 11 13.81 782 RE |[ZEig 11 13.97 SFA REO|RBEWL | 1] 1404 KA #kE |HiE 11 14.22 FHH EE  |WiEWl | 1] 1423
10/2| 24E100m | -0.7 |17 3y |#|iE 2| 13.18 ©2H #&F |EZH 2| 1329 R EERE  |[EE 2| 13.35 BH E mAkIF | 2 1373 SH ME |Fit 2| 13.74 B K& |/NE 2| 13.76 KIF #R |BR 2| 1393
10/1) 200m |+09|#% #F |FHA 2| 2665 R EERE  |[EE 2| 2729 MR R |1 2| 2735 51T 3y |Eig 2| 2763 HE X |TfE 11 27.66 B & EE 11 27.80 KiE R |BR 2| 2791 #F FK |BE 2| 28.04
10/2|  800m ik BE |TiE 2| 22065|NGR|KIF &2 |mW 2| 22882 = Bt Fiple 2| 2.28.86 HE BxER |[EiE 2| 2.2890 2/ #E |UMm 1 2.32.37 WA BEF] |fHFEg 2| 2.33.91 X¥ XHF |@BE 1| 2.35.05 ZIL i |EER 2| 2.36.15
10/1| 14E1500m IR BE |HiE 1| 5.09.61 HHE B =R 1/ 5.10.03 2\ E@® |WUFE 1| 5.17.08 IMA RBRKEF |FBKRSF | 1] 5.30.00 B 84K F |{HFE 1/ 5.33.74 I X |FREW 1| 5.35.66 2|\ F821 |E 1| 5.39.96 moh EE O |B#RIL | 1| 54664
10/1| 24E1500m b EZE e 2| 45142 Ek BE |TiE 2| 45212 HE BE |EiE 2| 4.56.71 T ETE Fip]d 2| 5.00.71 KiF £2 |FHW 2| 5.15.37 M Etk |EiE 2| 5.16.74 WA BBF]  |fEHmEm 2| 5.18.62 INE T B 2| 521.37
10/2| 3000m Fib EZE FHiE 2110.57.74 IFr BE |Fis 1/11.33.29 AEF tiE  |BiEW | 2121370 il FE |RW 2012.23.34 il B FFH 2012.26.79 BH ER |[Eig 2112.33.14 2@ BN |RW 1/12.37.48 BE £T |1&Fm 1/12.37.51
10/1| 100mH |+06|&FH = BRF | 2| 16.15 wE xR |EiE 2| 1617 kM =F/F Bk 2| 16.80 B BIE  (EiE 2| 1714 HE NE |FH 2| 17.20 MR BED [BIE 2| 17.24 INLE ER (EiR 2| 1790 NI ZH |[BKF| 2 1882
g 2l 1 B BifE 2 K Z2F 2 ¥E 538 2 TE KE 1 INE 8 2 AR A7 2 R SvH 2
2 FMK 2 pN -G £ 1 A MnEEsE 2 Kix %A 2 Lol Yk 2 R BE 2 TH = 2 FE BE 2
10/2| 4X100mR JBE | 52.88 =i | 53.06 #E | 53.14 FER | 5353 =g | 53.97 AH | 5444 BRF | 5487 BifR —— 5550
Hih [&Z3x 1 wRE ER 2 Mk R 2 INEF HEF 2 Tk B# 1 L 0ZE 1 B TE 2 %M =FZF 2
A RF 2 EE XZTE 1 Il BE 2 Ri& [5 2 INEE ER 2 S Ly 2 NI ZH 2 w1 RIF 2
HE K& |FH 2 1.45 & LDE EE 2 1.40 %8 E#¥EF |LE 2 1.40 wE xR HiE 2 1.35 " &7 |EE 2 1.35 AH ¥F%F |d 2 1.30 BH #HEET B 2
10/1| EE Bk 1.30
#HE =P |FHE 2
102 EiERK ¥l 'E' |WUE 2| 466 BE Z0h |BE 2| 445 BE AIF BR 1 4.29 =H K#H  (EKE 2/ 425 Rl wWA |ER 2| 4923 B =4 3= 2 ol 491 =i BE |%MH ARVRT: it BE L ’ 116
=2
+0.7 -0.1 +0.5 -0.7 +0.6 +1.7 +0.5 +0.1
10/1| Fai % E& EF |JUE 2| 10.01 HE MNE O |FH 2 9.98 @i RIB | HEER 2 9.91 TH EX | LkFE 2 9.21 maE DE |EiE 2 9.04 AR OE (BigEL | 2 8.69 Bk IR |HiE 1 8.55 ME BE |BKF | 2 8.41
FRX =R 1125 & BEig 44 5 F¥ 24 /= BRF 23 & =L 23 = JBE 22 = izlle7] 21 = )] 20 &
¥ NGR=X&#Hiciz FERAM—-FEEDBSIE. EHAEEHIZLS,
10818(L) 10828(8)
B Kz KB B A A] JERE BFZI Kz KB BE =G JEBE
9:30 55| 22.0°C 87% b ovic] 0.5m/s 9:30 =l 25.5°C 84% dtibE 1.3m/s
10:00 58] 22.0°C 91% b o i) 1.0m/s 10:00 = 25.5°C 84% MR 0.2m/s
11:00 5] 22.5°C 82% 3] 1.1m/s 11:00 BEh 29.5°C 68% 3] 0.3m/s
12:00 5] 23.5°C 96% HER 0.3m/s 12:00 Bh 30.5°C 68% it 0.8m/s
13:00 =l 23.0°C 87% REE 0.1m/s 13:00 Fh 30.0°C 68% 3] 1.4m/s
14:00 =) 25.0°C 76% MR 0.5m/s 14:00 Eh 31.5°C 75% A 1.7m/s




